## City and County of San Francisco Department of Public Works TABULATION OF BIDS

Contract ID: 1000015023

Contract Title: PW 6TH ST PEDESTRN SFTY PRJ

Full Title: 6TH STREET PEDESTRIAN SAFETY PROJECT

Bids Received: September 16, 2020

BIDDERS (in the order received & opened):

Total Bid Price

Mitchell Engineering	\$17,029,991.00
M Squared Construction, Inc.	\$10,400,000.00
A Ruiz Construction, Inc.	\$10,601,204.47
Esquivel Grading & Paving, Inc.	\$10,309,340.58
Thompson Builders Corporation	\$11,057,545.00

Average Bid: \$11,879,616.21

Engineer's Estimate: \$11,871,836.00

% of Engineer's Estimate: 100.07%

% of Engineer's Estimate vs. Low Bid Received 87%

## = Indicates a correction of the bid price after review.

cc:Denny PhanAlaric DegrafinriedSusanne SuskindPansy LamJieting YuSelormey DzikunuFernando CisnerosK2 SystemsJason ChinIqbalbhai DhapaNicolas KingPatrick RiveraNicolas HuffDeanna Calleros

All Bidders Ed Yee Cyril Velasquez Raymond Woo

For complete subcontractor listings, check: https://bidopportunities.apps.sfdpw.org/CaseLoad/Details/2218

Reviewed By: Rob Loftus Approved By: Ben Washington

(Insert Name) (Insert Name)

Contract ID: 1000015023 Short Title:

PW 6TH ST PEDESTRN SFTY PRJ Full Title:

6TH STREET PEDESTRIAN SAFETY PROJECT

Bid Date: September 16, 2020

Bid Bato.	Coptombo	10, 2020										
						M Squared		A Ruiz Construction,		Esquivel Grading &		Thompson Builders
				Mitchell Engineering		Construction, Inc.		Inc.		Paving, Inc.		Corporation
BID ITEMS	QUANTITIES	UNIT	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
G-1		LS		\$1,835,152.00		\$2,700,000.00		\$890,000.00		\$2,037,200.00		\$711,000.00
G-2		LS		\$2,750,000.00		\$53,729.00		\$189,000.00		\$228,480.48		\$50,000.00
G-3		LS		\$113,818.00		\$300,000.00		\$296,768.00		\$176,000.00		\$315,000.00
G-4		LS		\$43,415.00		\$200,000.00		\$197,845.00		\$33,000.00		\$200,000.00
G-5		AL		\$5,776.00		\$5,776.00		\$5,776.00		\$5,776.00		\$5,776.00
G-6		AL		\$247,500.00		\$247,500.00		\$247,500.00		\$247,500.00		\$247,500.00
G-7		AL		\$33,540.00		\$33,540.00		\$33,540.00		\$33,540.00		\$33,540.00
G-8		AL		\$100,000.00		\$100,000.00		\$100,000.00		\$100,000.00		\$100,000.00
G-9		AL		\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00
G-10		AL US SHORT		\$75,000.00		\$75,000.00		\$75,000.00		\$75,000.00		\$75,000.00
CS-1	1,200	TON	\$70.00	\$84,000.00	\$10.00	\$12,000.00	\$50.00	\$60,000.00	\$110.00	\$132,000.00	\$79.00	\$94,800.00
CS-2	1,200	US SHORT TON	\$68.00	\$81,600.00	\$10.00	\$12,000.00	\$60.00	\$72,000.00	\$44.00	\$52,800.00	\$65.00	\$78,000.00
CS-3	2,500	US SHORT TON	\$21.00	\$52,500.00	\$5.00	\$12,500.00	\$60.00	\$150,000.00	\$27.50	\$68,750.00	\$22.00	\$55,000.00
CS-4	2,500	US SHORT TON	\$26.00	\$65,000.00	\$5.00	\$12,500.00	\$40.00	\$100,000.00	\$44.00	\$110,000.00	\$35.00	\$87,500.00
R-1	79,120	SF	\$1.00	\$79,120.00	\$0.20	\$15,824.00	\$1.50	\$118,680.00	\$1.20	\$94,944.00	\$1.50	\$118,680.00
R-2	1,240	TON	\$233.00	\$288,920.00	\$190.00	\$235,600.00	\$210.00		\$180.00	\$223,200.00	\$195.00	\$241,800.00
R-3	51,174	SF	\$35.00		\$13.00	\$665,262.00	\$18.00		\$14.00	\$716,436.00	\$25.00	\$1,279,350.00
R-4	7,400	SF	\$11.00	\$81,400.00	\$18.00	\$133,200.00	\$28.00		\$16.00		\$28.00	\$207,200.00
R-5	1,640	LF	\$38.00	\$62,320.00	\$100.00	\$164,000.00	\$32.00		\$55.00	\$90,200.00	\$75.00	\$123,000.00
R-6	1,670	LF	\$33.00	\$55,110.00	\$60.00	\$100,200.00	\$18.00		\$43.00		\$65.00	\$108,550.00
R-7	70	LF	\$434.00		\$100.00	\$7,000.00	\$50.00		\$55.00	\$3,850.00	\$85.00	\$5,950.00
R-8	140	SF	\$82.00	\$11,480.00	\$50.00	\$7,000.00	\$16.00		\$28.00	\$3,920.00	\$22.00	\$3,080.00
R-9	34,600	SF	\$37.00	\$1,280,200.00	\$18.00	\$622,800.00	\$40.00		\$21.00	\$726,600.00	\$20.00	\$692,000.00
R-10	51	EA	\$6,860.00	\$349,860.00	\$6,000.00	\$306,000.00	\$4,500.00		\$4,000.00	\$204,000.00	\$3,500.00	\$178,500.00
R-11	41	EA	\$350.00	\$14,350.00	\$105.00	\$4,305.00	\$1,000.00		\$150.00		\$125.00	\$5,125.00
R-12	120	EA	\$350.00	\$42,000.00	\$21.00	\$2,520.00	\$100.00		\$35.00	\$4,200.00	\$125.00	\$15,000.00
R-13	1	EA	\$30,396.00	\$30,396.00	\$16,000.00	\$16,000.00	\$20,000.00		\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00
R-14	31	EA	\$438.00	\$13,578.00	\$500.00	\$15,500.00	\$400.00		\$44.00		\$185.00	
R-15	150	CY	\$603.00	\$90,450.00	\$200.00	\$30,000.00	\$200.00		\$220.00	\$33,000.00	\$275.00	\$41,250.00
R-16	4,600	LF	\$1.00	\$4,600.00	\$1.00	\$4,600.00	\$1.00		\$1.00	\$4,600.00	\$5.00	\$23,000.00
R-17	2	EA	\$23,278.00	\$46,556.00	\$20,000.00	\$40,000.00	\$12,000.00		\$14,000.00	\$28,000.00	\$15,000.00	\$30,000.00 \$50,000.00
R-18	1	AL	42 020 00	\$50,000.00	 \$4,000,00	\$50,000.00	 ¢£ 000 00	\$50,000.00	 ¢1 212 50	\$50,000.00 \$1,313.50		
L-1 L-2	5,875	EA SF	\$3,038.00 \$12.00	\$3,038.00 \$70,500.00	\$4,000.00 \$24.00	\$4,000.00 \$141,000.00	\$5,000.00 \$23.00		\$1,312.50 \$23.65			
L-2 L-3	350	SF SF	\$176.00	\$61,600.00	\$24.00	\$28,000.00	\$23.00		\$23.00		\$35.00 \$150.00	
L-3 L-4	18	EA	\$4,578.00	\$82,404.00	\$4,000.00		\$5,000.00	. ,	\$4,400.00			
L-5	11	EA	\$5,433.00	\$59,763.00	\$4,000.00		\$5,000.00		\$3,531.00			
L-6	16	EA	\$993.00	\$15,888.00	\$1,000.00		\$900.00		\$275.00		. ,	
L-7	11	EA	\$2,784.00	\$30,624.00	\$4,000.00		\$4,000.00		\$3,255.00			
L-7A	4	EA	\$2,453.00	\$9,812.00	\$3,500.00		\$3,000.00		\$1,650.00			
L-8	18	EA	\$438.00	\$7,884.00	\$1,000.00				\$825.00			
							•	- E		-		-

Contract ID: Short Title: 1000015023 PW 6TH ST PEDESTRN SFTY PRJ

Full Title: 6TH STREET PEDESTRIAN SAFETY PROJECT

Bid Date: September 16, 2020

2.4 24.6.	Оортоннос	71 10, 2020										
						M Squared		A Ruiz Construction,		Esquivel Grading &		Thompson Builders
				Mitchell Engineering		Construction, Inc.		Inc.		Paving, Inc.		Corporation
L-9	8	CY	\$789.00	\$6,312.00	\$1,000.00	\$8,000.00	\$915.00		\$814.00	\$6,512.00	\$476.00	\$3,808.00
L-10		LS		\$58,416.00		\$40,000.00		\$49,890.00		\$39,600.00		\$15,000.00
L-11		LS		\$70,099.00		\$63,000.00		\$68,900.00		\$63,000.00		\$75,000.00
L-12	3,058	SF	\$12.00	\$36,696.00	\$18.00	\$55,044.00	\$11.00		\$16.80	\$51,374.40	\$20.00	
L-13		AL	 000.054.00	\$36,000.00	 \$00.750.00	\$36,000.00	 \$00,500,00	\$36,000.00	 *00.750.00	\$36,000.00	 #45,000,00	\$36,000.00
S-1A	1	EA	\$22,251.00	\$22,251.00	\$36,750.00	\$36,750.00	\$36,500.00		\$36,750.00	\$36,750.00	\$45,000.00	\$45,000.00
S-1B S-2	2	EA	\$12,715.00	\$25,430.00	\$21,000.00	\$42,000.00	\$22,000.00		\$21,000.00	\$42,000.00	\$25,000.00	\$50,000.00
	8	EA EA	\$9,537.00	\$76,296.00 \$13,992.00	\$15,750.00	\$126,000.00	\$16,500.00		\$15,750.00	\$126,000.00	\$20,000.00	\$160,000.00
S-3A S-3B	11 8	EA	\$1,272.00 \$795.00	\$6,360.00	\$2,100.00 \$2,625.00	\$23,100.00 \$21,000.00	\$2,200.00 \$2,250.00		\$2,100.00 \$2,625.00	\$23,100.00 \$21,000.00	\$3,500.00 \$3,500.00	\$38,500.00 \$28,000.00
S-3C	3	EA	\$9,537.00	\$28,611.00	\$15,750.00	\$47,250.00	\$1,650.00		\$15,750.00	\$47,250.00	\$18,000.00	\$54,000.00
	1	EA	\$4,768.00		\$15,750.00	\$15,750.00	\$15,500.00		\$15,750.00	\$15,750.00	\$18,000.00	\$18,000.00
S-3D S-4	240	SF	\$152.00	\$4,768.00 \$36,480.00	\$30.00	\$7,200.00	\$15,500.00		\$13,730.00	\$20,328.00	\$175.00	\$42,000.00
S-5	240	SF	\$280.00	\$67,200.00	\$120.00	\$28,800.00	\$245.00		\$192.50	\$46,200.00	\$183.00	\$43,920.00
S-6	56	SF	\$375.00	\$21,000.00	\$40.00	\$2,240.00	\$55.00		\$189.20	\$10,595.20	\$255.00	\$14,280.00
S-7	56	SF	\$280.00	\$15,680.00	\$150.00	\$8,400.00	\$750.00		\$169.40	\$9,486.40	\$308.00	\$17,248.00
S-8	112	SF	\$219.00	\$24,528.00	\$40.00	\$4,480.00	\$55.00		\$176.00	\$19,712.00	\$285.00	\$31,920.00
S-9	112	SF	\$280.00	\$31,360.00	\$150.00	\$16,800.00	\$645.00		\$129.80	\$14,537.60	\$260.00	\$29,120.00
S-10	183	SF	\$160.00	\$29,280.00	\$40.00	\$7,320.00	\$55.00		\$295.90	\$54,149.70	\$156.00	\$28,548.00
S-11	183	SF	\$280.00	\$51,240.00	\$150.00	\$27,450.00	\$450.00		\$266.20	\$48,714.60	\$221.00	\$40,443.00
S-12	600	SF	\$70.00	\$42,000.00	\$30.00	\$18,000.00	\$55.00		\$69.30	\$41,580.00	\$40.00	\$24,000.00
S-13	600	SF	\$384.00	\$230,400.00	\$120.00	\$72,000.00	\$645.00		\$102.30	\$61,380.00	\$150.00	\$90,000.00
S-14A	606	SF	\$290.00	\$175,740.00	\$30.00	\$18,180.00	\$85.00		\$88.00	\$53,328.00	\$135.00	\$81,810.00
S-14B	639	SF	\$88.00	\$56,232.00	\$20.00	\$12,780.00	\$55.00		\$50.60		\$136.00	\$86,904.00
S-15A	170	SF	\$290.00	\$49,300.00	\$30.00	\$5,100.00	\$55.00		\$211.20	\$35,904.00	\$148.00	\$25,160.00
S-15B	171	SF	\$88.00	\$15,048.00	\$20.00	\$3,420.00	\$55.77		\$82.50	\$14,107.50	\$156.00	\$26,676.00
S-16	2,300	SF	\$290.00	\$667,000.00	\$25.00	\$57,500.00	\$55.00		\$93.78	\$215,694.00	\$118.00	\$271,400.00
S-17	194	SF	\$290.00	\$56,260.00	\$30.00	\$5,820.00	\$55.00	\$10,670.00	\$93.50	\$18,139.00	\$144.00	\$27,936.00
S-18	193	SF	\$290.00	\$55,970.00	\$30.00	\$5,790.00	\$55.00	\$10,615.00	\$97.90	\$18,894.70	\$183.00	\$35,319.00
S-19	341	SF	\$290.00	\$98,890.00	\$30.00	\$10,230.00	\$39.60	\$13,503.60	\$137.50	\$46,887.50	\$171.00	\$58,311.00
S-20	744	SF	\$290.00	\$215,760.00	\$30.00	\$22,320.00	\$55.00	\$40,920.00	\$106.70	\$79,384.80	\$135.00	\$100,440.00
S-21	645	SF	\$290.00	\$187,050.00	\$30.00	\$19,350.00	\$55.00		\$111.10		\$134.00	\$86,430.00
S-22	472	SF	\$290.00	\$136,880.00	\$30.00	\$14,160.00	\$55.00		\$101.20	\$47,766.40	\$140.00	\$66,080.00
S-23	88	SF	\$290.00	\$25,520.00	\$30.00	\$2,640.00	\$65.00		\$217.80	\$19,166.40	\$235.00	\$20,680.00
S-24	948	SF	\$290.00	\$274,920.00	\$30.00	\$28,440.00	\$55.20		\$93.50	\$88,638.00	\$228.00	\$216,144.00
S-25	447	SF	\$290.00	\$129,630.00	\$30.00	\$13,410.00	\$55.00		\$121.00	\$54,087.00	\$238.00	\$106,386.00
S-26	107	SF	\$290.00		\$30.00		\$55.20		\$181.50		\$282.00	
S-27	137	SF	\$290.00		\$30.00		\$40.60		\$187.00		\$270.00	
S-28		AL		\$6,400.00		\$6,400.00		\$6,400.00		\$6,400.00		\$6,400.00
S-29		AL		\$104,600.00		\$104,600.00		\$104,600.00		\$104,600.00		\$104,600.00
S-30		AL		\$25,040.00		\$25,040.00		\$25,040.00		\$25,040.00		\$25,040.00
S-31		AL		\$54,000.00		\$54,000.00		\$54,000.00		\$54,000.00		\$54,000.00
S-32		AL		\$840.00		\$840.00		\$840.00		\$840.00		\$840.00
S-33		AL		\$8,400.00		\$8,400.00		\$8,400.00		\$8,400.00		\$8,400.00
S-34		AL		\$10,980.00		\$10,980.00		\$10,980.00		\$10,980.00		\$10,980.00
S-35		AL		\$36,000.00		\$36,000.00		\$36,000.00		\$36,000.00		\$36,000.00

Contract ID: 1000015023

Short Title: PW 6TH ST PEDESTRN SFTY PRJ Full Title:

6TH STREET PEDESTRIAN SAFETY PROJECT

Bid Date: September 16, 2020

2.0.20.0.	Coptombe	71 10, 2020										
						M Causana d		A Duiz Construction		Familial Cradina 0		Thomason Duildon
				Mitchell Engineering		M Squared Construction, Inc.		A Ruiz Construction, Inc.		Esquivel Grading & Paving, Inc.		Thompson Builders Corporation
SW-1		LS		\$54,847.00		\$300,000.00		\$28,900.00		\$42,000.00		\$75,000.00
SW-2	20	EA	\$13,036.00	\$260,720.00	\$12,000.00	\$240,000.00	\$8,900.00	\$178,000.00	\$12,600.00	\$252,000.00	\$20,322.00	\$406,440.00
SW-3	2	EA	\$13,207.00	\$26,414.00	\$12,000.00	\$24,000.00	\$8,000.00	\$16,000.00	\$15,750.00	\$31,500.00	\$15,000.00	\$30,000.00
SW-4	350	LF	\$459.00	\$160,650.00	\$400.00	\$140,000.00	\$398.00	\$139,300.00	\$262.50	\$91,875.00	\$236.00	\$82,600.00
SW-5	33	EA	\$2,560.00	\$84,480.00	\$500.00	\$16,500.00	\$500.00	\$16,500.00	\$525.00	\$17,325.00	\$500.00	\$16,500.00
SW-6	287	LF	\$1,053.00	\$302,211.00	\$400.00	\$114,800.00	\$450.00	\$129,150.00	\$367.50	\$105,472.50	\$621.00	\$178,227.00
SW-7	15	EA	\$5,445.00	\$81,675.00	\$1,800.00	\$27,000.00	\$4,000.00	\$60,000.00	\$2,100.00	\$31,500.00	\$2,400.00	\$36,000.00
SW-8	183	LF	\$297.00	\$54,351.00	\$250.00	\$45,750.00	\$290.00	\$53,070.00	\$157.50	\$28,822.50	\$326.00	\$59,658.00
SW-9	19	EA	\$5,843.00	\$111,017.00	\$300.00	\$5,700.00	\$200.00	\$3,800.00	\$105.00	\$1,995.00	\$405.00	\$7,695.00
SW-10	12	EA	\$467.00	\$5,604.00	\$300.00	\$3,600.00	\$500.00	\$6,000.00	\$315.00	\$3,780.00	\$400.00	\$4,800.00
SW-11	24	CY	\$215.00	\$5,160.00	\$300.00	\$7,200.00	\$500.00	\$12,000.00	\$315.00	\$7,560.00	\$400.00	\$9,600.00
SW-12	17	EA	\$5,546.00	\$94,282.00	\$1,500.00	\$25,500.00	\$1,500.00	\$25,500.00	\$1,050.00	\$17,850.00	\$4,200.00	\$71,400.00
SW-13	11	EA	\$531.00	\$5,841.00	\$500.00	\$5,500.00	\$2,100.00	\$23,100.00	\$1,050.00	\$11,550.00	\$755.00	\$8,305.00
SW-14	156	SF	\$88.00	\$13,728.00	\$20.00	\$3,120.00	\$12.00	\$1,872.00	\$15.75	\$2,457.00	\$79.00	\$12,324.00
SW-15		AL		\$80,000.00		\$80,000.00	\$80,000.00	\$80,000.00		\$80,000.00		\$80,000.00
E-1	39	EA	\$726.00	\$28,314.00	\$840.00	\$32,760.00	\$850.00	\$33,150.00	\$840.00	\$32,760.00	\$926.00	\$36,114.00
E-2	1,090	LF	\$80.00	\$87,200.00	\$84.00	\$91,560.00	\$85.00	\$92,650.00	\$84.00	\$91,560.00	\$93.00	\$101,370.00
E-3 E-4	20	EA EA	\$7,000.00	\$140,000.00 \$30,000.00	\$7,350.00 \$15,750.00	\$147,000.00 \$31,500.00	\$7,300.00 \$16,500.00	\$146,000.00	\$7,350.00	\$147,000.00 \$31,500.00	\$8,110.00	\$162,200.00 \$34,800.00
E-4 E-5	2	EA	\$15,000.00 \$6,000.00	\$12,000.00	\$15,750.00	\$12,600.00		\$33,000.00 \$13,000.00	\$15,750.00	\$31,500.00 \$12,600.00	\$17,400.00	\$13,900.00
E-6		LS	\$6,000.00 	\$50,000.00	\$6,300.00 	\$52,500.00	\$6,500.00 	\$55,000.00	\$6,300.00	\$52,500.00	\$6,950.00 	\$13,900.00
E-7		LS		\$10,000.00		\$10,500.00		\$11,500.00		\$10,500.00		\$11,600.00
ET-1	43	EA	\$1,000.00	\$43,000.00	\$1,050.00	\$45,150.00	\$1,100.00	\$47,300.00	\$1,050.00	\$45,150.00	\$1,160.00	\$49,880.00
ET-2	2	EA	\$1,000.00	\$2,000.00	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$1,050.00	\$2,100.00	\$1,160.00	\$2,320.00
ET-3	5	EA	\$1,000.00	\$5,000.00	\$1,050.00	\$5,250.00	\$1,650.00	\$8,250.00	\$1,050.00	\$5,250.00	\$1,160.00	\$5,800.00
ET-4	6	EA	\$1,000.00	\$6,000.00	\$1,050.00	\$6,300.00	\$1,100.00	\$6,600.00	\$1,050.00	\$6,300.00	\$1,160.00	\$6,960.00
ET-5	20	EA	\$1,000.00	\$20,000.00	\$1,050.00	\$21,000.00	\$1,100.00	\$22,000.00	1,050	\$21,000.00	\$1,160.00	\$23,200.00
ET-6	2	EA	\$1,200.00	\$2,400.00	\$1,260.00	\$2,520.00	\$1,430.00	\$2,860.00	\$1,260.00	\$2,520.00	\$1,390.00	\$2,780.00
ET-7	6	EA	\$100.00	\$600.00	\$105.00	\$630.00	\$150.00	\$900.00	\$105.00	\$630.00	\$116.00	\$696.00
ET-8	29	EA	\$500.00	\$14,500.00	\$525.00	\$15,225.00	\$600.00	\$17,400.00	\$525.00	\$15,225.00	\$580.00	\$16,820.00
ET-9	29	EA	\$500.00	\$14,500.00	\$525.00	\$15,225.00	\$600.00	\$17,400.00	\$525.00	\$15,225.00	\$580.00	\$16,820.00
ET-10	3	EA	\$500.00	\$1,500.00	\$525.00	\$1,575.00	\$600.00	\$1,800.00	\$525.00	\$1,575.00	\$580.00	\$1,740.00
ET-11	27	EA	\$500.00	\$13,500.00	\$525.00	\$14,175.00	\$600.00	\$16,200.00	\$525.00	\$14,175.00	\$580.00	\$15,660.00
ET-12	3	EA	\$4,143.00	\$12,429.00	\$1,260.00	\$3,780.00	\$1,300.00	\$3,900.00	\$1,260.00	\$3,780.00	\$1,390.00	\$4,170.00
ET-13	8	EA	\$1,980.00	\$15,840.00	\$1,365.00	\$10,920.00	\$1,400.00	\$11,200.00	\$1,365.00	\$10,920.00	\$1,506.00	\$12,048.00
ET-14	1	EA	\$1,580.00	\$1,580.00	\$945.00	\$945.00	\$1,000.00	\$1,000.00	\$945.00	\$945.00	\$1,042.00	\$1,042.00
ET-15	7	EA	\$9,000.00		\$9,450.00		\$10,000.00		\$9,450.00		\$10,426.00	\$72,982.00
ET-16	2	EA	\$6,000.00		\$6,300.00		\$7,000.00		\$6,300.00		\$6,951.00	
ET-17	1	EA	\$15,680.00		\$15,750.00		\$16,800.00		\$15,750.00		\$13,400.00	
ET-18	4	EA	\$16,680.00	\$66,720.00	\$16,800.00		\$17,700.00		\$16,800.00		\$18,600.00	\$74,400.00
ET-19	1	EA	\$12,680.00	\$12,680.00	\$12,600.00	\$12,600.00	\$13,500.00		\$12,600.00	\$12,600.00	\$13,900.00	\$13,900.00
ET-20	2	EA EA	\$800.00	\$1,600.00	\$840.00		\$900.00		\$840.00	\$1,680.00	\$930.00	
ET-21 ET-22	12 20	EA	\$800.00 \$1,000.00	\$9,600.00 \$20,000.00	\$840.00 \$1,050.00	\$10,080.00 \$21,000.00	\$890.00 \$1,100.00	\$10,680.00 \$22,000.00	\$840.00 \$1,050.00	\$10,080.00 \$21,000.00	\$930.00 \$1,160.00	\$11,160.00 \$23,200.00
ET-23	4	EA	\$1,000.00	\$4,800.00	\$1,050.00		\$1,100.00		\$1,050.00		\$1,160.00	
ET-23	4	EA	\$1,200.00	\$10,000.00	\$1,260.00		\$2,650.00		\$2,625.00		\$1,400.00	
L1 <sup>-</sup> 24	4	L∧	ΨΖ,300.00	ψ10,000.00	ΨΖ,0ΖJ.00	ψ10,000.00	ΨΖ,030.00	Ψ10,000.00	ΨΖ,0ΖΟ.00	ψ10,000.00	ΨΖ,ΘΟΟ.ΟΟ	Ψ11,000.00

Contract ID: 1000015023 Short Title:

PW 6TH ST PEDESTRN SFTY PRJ Full Title: 6TH STREET PEDESTRIAN SAFETY PROJECT

Bid Date: September 16, 2020

			<u></u>			<u> </u>		<u> </u>				
<b>'</b>		1	ļ l	1		l l		1		1	1	Į l
i l		1	Į l	1	l	t j	'	1	İ	1	1	Į l
i i	<b> </b>	1	Į l	1	İ			1.5.0	İ	ا	1	l
i l		1	Į l	Mitchell English	l	M Squared	'	A Ruiz Construction,	İ	Esquivel Grading &	1	Thompson Builders
		<u> </u>		Mitchell Engineering		Construction, Inc.		Inc.		Paving, Inc.		Corporation
ET-25	20	LF	\$80.00	\$1,600.00	\$84.00	\$1,680.00	\$90.00	\$1,800.00	\$84.00	\$1,680.00	\$93.00	\$1,860.00
ET-26	550	LF	\$85.00	\$46,750.00	\$90.00	\$49,500.00	\$100.00	\$55,000.00	\$89.25	\$49,087.50	\$98.00	
ET-27	220	LF	\$200.00	\$44,000.00	\$95.00	\$20,900.00	\$100.00	\$22,000.00	\$94.50	\$20,790.00	\$105.00	\$23,100.00
ET-28	280	LF	\$90.00	\$25,200.00	\$95.00	\$26,600.00	\$100.00	\$28,000.00	\$94.50	\$26,460.00	\$105.00	\$29,400.00
ET-29	55	LF	\$95.00	\$5,225.00	\$100.00	\$5,500.00	\$100.00	\$5,500.00	\$99.75		\$110.00	
ET-30	100	LF	\$210.00	\$21,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$99.75		\$110.00	\$11,000.00
ET-31	15	LF	\$100.00	\$1,500.00	\$105.00	\$1,575.00	\$105.00	\$1,575.00	\$105.00	\$1,575.00	\$116.00	
ET-32	200	LF	\$220.00	\$44,000.00	\$105.00	\$21,000.00	\$105.00	\$21,000.00	\$105.00	\$21,000.00	\$116.00	
ET-33	40	LF	\$105.00	\$4,200.00	\$110.00	\$4,400.00	\$110.00	\$4,400.00	\$110.25	\$4,410.00	\$122.00	
ET-34	330	LF	\$110.00	\$36,300.00	\$115.00	\$37,950.00	\$115.00	\$37,950.00	\$115.50	\$38,115.00	\$127.00	\$41,910.00
ET-35	90	LF	\$150.00	\$13,500.00	\$157.00	\$14,130.00	\$160.00	\$14,400.00	\$157.50	\$14,175.00	\$174.00	\$15,660.00
ET-36	140	LF	\$415.00	\$58,100.00	\$122.00	\$17,080.00	\$120.00	\$16,800.00	\$120.75	\$16,905.00	\$133.00	
ET-37	10	LF	\$155.00	\$1,550.00	\$163.00	\$1,630.00	\$160.00	\$1,600.00	\$162.75		\$180.00	
ET-38	890	LF	\$620.00	\$551,800.00	\$126.00	\$112,140.00	\$123.00	\$109,470.00	\$126.00	\$112,140.00	\$139.00	\$123,710.00
ET-39	110	LF	\$180.00	\$19,800.00	\$189.00	\$20,790.00	\$185.00	\$20,350.00	\$189.00	\$20,790.00	\$209.00	\$22,990.00
ET-40	3	EA	\$1,200.00	\$3,600.00	\$1,260.00	\$3,780.00	\$1,300.00	\$3,900.00	\$1,260.00	\$3,780.00	\$1,390.00	\$4,170.00
ET-41	3	EA	\$1,200.00	\$3,600.00	\$1,260.00	\$3,780.00	\$1,300.00	\$3,900.00	\$1,260.00	\$3,780.00	\$1,390.00	\$4,170.00
ET-42	1	EA	\$3,000.00	\$3,000.00	\$1,050.00		\$1,100.00	\$1,100.00	\$1,050.00	\$1,050.00	\$1,160.00	
ET-43	2	EA	\$800.00	\$1,600.00	\$840.00	\$1,680.00	\$900.00	\$1,800.00	\$840.00	\$1,680.00	\$927.00	
ET-44		LS		\$150,000.00		\$157,500.00		\$160,000.00		\$157,500.00		\$173,775.00
ET-45		LS		\$10,000.00		\$10,500.00		\$11,000.00		\$10,500.00		\$11,600.00
ET-46		LS		\$10,000.00		\$10,500.00		\$11,000.00		\$10,500.00		\$11,600.00
OV-1	1	EA	\$35,000.00	\$35,000.00	\$36,750.00	\$36,750.00	\$36,000.00	\$36,000.00	\$36,750.00	\$36,750.00	\$40,500.00	
OV-2	1	EA	\$35,000.00	\$35,000.00	\$36,750.00		\$36,000.00		\$36,750.00	\$36,750.00	\$40,500.00	
OV-3	1	EA	\$35,000.00	\$35,000.00	\$36,750.00	\$36,750.00	\$36,000.00	\$36,000.00	\$36,750.00	\$36,750.00	\$40,500.00	
OV-4	4	EA	\$34,500.00	\$138,000.00	\$26,250.00	\$105,000.00	\$26,000.00	\$104,000.00	\$26,250.00	\$105,000.00	\$29,000.00	
OV-5	4	EA	\$7,000.00	\$28,000.00	\$7,350.00	\$29,400.00	\$7,800.00	\$31,200.00	\$7,350.00	\$29,400.00	\$8,110.00	
OV-6	2	EA	\$1,000.00	\$2,000.00	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$1,050.00	\$2,100.00	\$1,160.00	
OV-7	2	EA	\$10,000.00	\$20,000.00	\$10,500.00	\$21,000.00	\$11,000.00	\$22,000.00	\$10,500.00	\$21,000.00	\$11,600.00	
OV-8	2	EA	\$6,000.00	\$12,000.00	\$6,300.00	\$12,600.00	\$7,000.00	\$14,000.00	\$6,300.00	\$12,600.00	\$6,900.00	\$13,800.00
OV-9		AL		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00
TP-1	120	LF	\$25.00	\$3,000.00	\$27.00	\$3,240.00	\$26.00	\$3,120.00	\$26.25	\$3,150.00	\$29.00	
TP-2	70	LF	\$100.00	\$7,000.00	\$105.00	\$7,350.00	\$110.00	\$7,700.00	\$105.00	\$7,350.00	\$116.00	
TP-3	1	EA	\$6,000.00	\$6,000.00	\$6,300.00		\$6,800.00	\$6,800.00	\$6,300.00	\$6,300.00	\$6,950.00	
TP-4	4	EA	\$1,000.00	\$4,000.00	\$1,050.00	\$4,200.00	\$1,100.00	\$4,400.00	\$1,050.00	\$4,200.00	\$1,200.00	
TP-5		LS		\$15,000.00		\$15,750.00		\$16,000.00		\$15,750.00		\$17,400.00
TP-6		AL		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00
TOTAL BID PR	ICE:			\$17,029,991.00		\$10,400,000.00		\$10,601,204.47		\$10,309,340.58		\$11,057,545.00
·												

= Indicates a correction of the bid price after review.